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(3)
SECTION -1
gug-|
CHILD DEVELOPMENT AND PEDAGOGY
wre forere v fremare
There are 30 questions in all in this section.
All questions are compulsory.
WEEdga 30T E |
Tt we e £

Which of the following may not be expected from a teacher to keep in mind while
respecting individual difference ?

(A) Ability grouping (B) Adjusting the curriculum

(C) Leaving Children for self study (D) Adjusting the methods of teaching

s Ff=an &1 S5 S0d 9w, uss e @ 591 A1 781 il 1 =B 8 7

(A) drmagER R E v we | (B) « wigaeat @ swmEfE 5 |

€) wEim@EESfUSgn (D) P Rfel w wEEiE wE |

When both chrogological and mental age 0L Roonam is 9 years, her intelligence category
may be considered as

A) Superior . ge
EC) Average m@-ﬂ%
ﬂﬁwﬁmﬁmmwgmmﬂﬁzmﬁﬁm%
: (B) aftaa 8 &5

(C) aft|d (D) SiowER

1 1o is the characteristics of Autism ?
Which of the following ot iy

(A) Poor Socialization
(C) Poor Communication (D) All of the above

Py 3 @ B @ T S Em & 7
(A) HHSI AT SRR (B) &fgsg=aEn
(C) HHSIR FHI (D) , St ferfigm wft
individual’ iti titatively should be termed as
The process of an individual’s capacities quan
{A; pDﬁVﬂlopmcnt Eg}; ﬂr::::ﬁm
(C) Equilibrium O ..
HraTede safeeTa &Hdl w i gfenal &I HEl o i
(). ‘Faww @mﬁz)} ® b
- | P.T.0.

HelpStudentPoint.Com
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(4) |
S. For the proper develq §T.2 |

"Per development of 4 chi ,
following : (which e ?) '@ child at adolescent stage, Parents and teachers can do th
: i =

A
EB; ?ﬁ?ﬂgﬂng Proper gender education
©) A Ng suitable environment

ranging guidance ; selli ) .
(D) Al ﬂflhehaht;m-g ¢ and counselling services (1f required)

7
By R R - e v P e e 8 - (B

(A) Tomm fven =1 3fera 5= 2
(B) 3fua aramewor wem s

(C) st e qrfeyiA gay &
(D)t ferf i, T (3R S )

6.  Which of the following is not related to Action Research 2
| (A) Action research helps in theory building.,
! (B) It enables us to solve practical problem,
| (C) Focus on problem that arc of immediate CONCETI.
(D) Offers formation feedback such that aims and methodology are open to variation.

=t 8 & = forarees vig & defie 78 2 -

(A) ToraTeass sty fazia ol & weemr s 2

(B) 9% HTGET TS & GHIYTH FR I
(C) wafa s v 3w g 21

(D) /T8 TEATCHS Uidshdiaal A S8 iR worret 3 ager gRas= @ |

7. A teacher is going to apply tfs theory in the classroom. What
he/she should not appl }Wv Biotivg 7 T<IE 31T

(A) Children should be made ready or motivated properly for learning a task.
(B) Children should be oriented to a discovery approach towards learning new things.

(C) Sufficient practice or drill work should be carried out. )
(D) Teacher should try to make use of rewards as properly as possible.

e Rreres 1ot e 1 aHers & Rigia F v w51 @ @ | Feffea 3 @ w0 e w
ST AET AT AMMET 7

(A) i ) A e e iR au 39 S diea £ 98 w9 8 M fran s anfie
(B) =i = 78 el T ¥ Wi fafy & forg sgw o ST e |

(©€) ﬂzf%ﬂmwmam%aﬂﬁﬁmmwb

(D) qﬁﬁﬂﬁﬂﬁﬂﬁgﬁﬁﬂmﬂﬁﬁﬁmﬁmmw&q|

is the inability to distinguish between one’s own perspective and other’s

perspective in early childhood. "
(A) Centricism (B) Ego centricism
(C) Animism (D) None of the above

W%ﬁmmﬂw@%mﬁﬁﬁﬁﬁmﬁmﬁt |
(A) H2eed (A=) (B) ¢3TH H5¥d (M Aiferssr)

(C) ST () (D) i AT
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10.

12.

(5) F

“When someone fails r

u epeatedly to

simply places e ’ : overcome weaknesses ,

above statem oy emphasis on some particular inrﬂn'«1 s s

. ent as ‘inferiority complex” ? erority.” Who illustrated the

E{:‘; E:I G;Stw Jung ';.B] Sigmund Freud
en Ho reu

| Homney (D) Alfred Adler

TS mmﬁﬁmﬁﬁ mﬁm%m@m_ﬂmwtm

AT :
w8l ? mmﬁmﬁawil“mwmﬂﬁmﬁ-w-W'
(A) el e g (B) iz e
(C) FTw (D), HEHE T
cused 18

The hi ¥ :
¢ highly efficiont form of learning approach, on which Bandura and Walters fo
(B) Observational Learning or Imitation

:g] Reward and Punishment

) Self-actualization

* (D) None of the above
mﬂmﬁgmm@faaﬁﬂﬂqzﬁr'ﬁmquﬁmﬁﬁﬁmii

(A) GTEpR aUT &l (B) ﬁﬁermgﬁsrltrmmaaﬂ“‘
(C) TE-arefehE] (D) <ty ferfiaa v 7 |

is not a role of teacher 9

As Right to Education Act, which af the following
£ : : L i 4
e curriculum ﬂcci!mi time.

(A) Complete entir
(B) Teacher thall engage himself or hegsellin private tution.
and puiictisaity in attending schgol
i pplement additional

(C) Maintairl regdlarity
(D) iﬁﬂ:;::;:'::;.l;.zrn.:ng I id and accordimgly su
e > iR ST Pt B S R
(A) ﬁﬁﬁﬁﬂmﬁmﬁﬂaﬁwm |
3 = @ =TEC |
%ﬁqﬁuﬁﬁmmaﬂqwmwmﬁamaﬂm |
) 9@ & FTEL <3 srfafiaa I FqH

cture, which of the following would

ality stru
s they arose, without regard to

o cacommended person
d reflexively a

to Freud s reco ,
es i mcd[ﬂtﬂl}: an

: morals of any kind 7

ot (B) Bothego and Super ego

(D) Ego
m#mﬁﬂﬂ.ﬁﬂﬁﬁﬁqwﬁﬁﬁm%ﬁ%ma
gean @ Afeewar FaReA1 H §) HqE

s

e sq @ (@

e ? B) 78 9 TSE 3 (Both Ego and S

(A) quaEd (SuPE* eg0)” @ T L o
P.T.O.
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13.

14,

15.

16.

(6)
in which of the following technique, the child e
desirable items, services or privileges ?
(A) Token economy (B) Shaping '
(C) Extinction ) (D) C‘-Wl.‘.'rt T
fr= 7 @ 58 aF® & Hara, s w= Iﬁérmﬁmmﬁ, ﬁﬁmﬁa}m
T Il F 91 9 H weet ahar & 7

(A) aﬁsﬁﬁﬂ (Token economy) (B’) T34 $i (Shaping)
(C) feite (Extinction) (D) s et (Covert Sensitization)

St

objects, which they can exchange for

Students encountered many conflicting situatio : ! .

example a student wants to admit his rfistﬂke i:int{;ui:lr{:;gth?z;cﬁ?rugz?z?tthirzz:itiFm
he is afraid of being punished by the teacher. |t is best explained by me
(A) Approach-Approach Conflicting Situation.
(B) Avoidance-Avoidance Conflicting Situatiop,
(C) Approach-Avoidance Conflicting Sitpation.
(D) None of the above,

AS year nlc_i child has a general lack of responsiveness to others, serious deficiency in
communication and unusual repetitive behaviour. Such characteristics are the sign of

(A) Hearing impairment (B) Scholastic backwardness

(C) ‘Infantile Autism (D) Leaming disability

T i % a= F g 3wy wfife qun g & S 2w HEHT SRR i gRER
TR | 7 TE H a1 vl 2 2

(A) =T afyy (B) e frmgmm

(€) v it (D), it e

A belhavl'ﬂl-lr pattern involving self-starvation that often arises in adolescence and
especially prevalent among girls is known as

(A) Anorexia nervosa (B) Delirium tremens

(C} LAutism {D] Down S}!’ﬂdl’ﬂme :
feramrraresn < i mﬁuﬁ@ﬁsﬂamﬁﬁﬁ%ﬁﬁ%ﬂm“mmﬁﬁm
ot & | Tt S Y e e 2
(A) E:iﬁ.@:m'[ a4 (B) ﬁf{ﬂﬂﬁﬂ
(C) e (D) @A g



ST-2
17.  Which of the follow;i ™
wmg [e.'rn-l ref; . .
(A) Optic Atrophy €rs to farsightedness 7
(B) Astigmatism
(C) Hyperopia
. (D) Refraction

(A) TR gh p

© (D) fobwm ’
18. Insightful theory of leaming is giye, by . {

(A) Thorndike (B) Gardener

(3, Bottes (D) Hull and Tollman

w1 SR figia gr feay ar 2

(A) ~AFFETE (B) TEW

(C) wigert =V &y i ]

19. Which of the followmg&od¥ regitawe the tpmirg-polzicsand programmes *‘I the field of
rehabilitation of persons with disabilities in India ?

(A) National Council of Teacher Education
National University of Educational Planning and Administration

(B)

(©)
(D) Rehabilitation Council of India
By 3 & 21wt g e Pt e swiwE w1 R gEiE @ 3w A

T w8 7
(A) g e R aiee
{B)ﬂffﬂﬂf&ﬁ!i’lwqﬁmaﬁwﬁmm
(C) T¥a ey FTHU & witrer aiteg
(D) W gaid Iiwg

National Council of Education Research and Training

HelpStudentPoint.Com
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20.

21.

22.

23.

24,

25.

folowing stage. he means ?
(A Concrete operation (B) Pre'ﬂperatinn
(C Formal operation

(D) None of ab
'Eﬁﬁﬁﬁ’?ﬂ‘:“ﬁ%ﬂﬁiw : mﬁ;;hedbwe

. <3 & qen wft w3 v
mﬁmﬂ‘g!“ﬁﬂﬁﬁsﬂ‘mﬁw% [ M%W,ﬁnﬁﬁﬁq%wmwm;ﬁ
(A) HFRRR e AB)  T~tarery |
(C) 3=l g=rem ¢ (D) mﬁ‘ﬂ?ﬁ
Mot of the children speak first meaningful word a ¢
(A) 3 months (B) 6months" '

(C) 35-40 months (DY 10-13 h
G &= ¥oH HTY% W1 39 39 1 Ay 3 S
(A) 3wdR AB) 6 W& 3§

(€) 35-40 wgR# (D) 10-13 w3
Who s the father of “Theory of Multiple Intelligence” 9

(A) Vygotsky (B) Brunner

(C) Alfred Binet ’{ Gardener
M- g FTsand ; v

(A) TR (B) O3

(€) ks fie Education o=l

Who hfs given more FRSSBA tﬁﬁ-ﬂnsa mﬁnma} Eunstmctjvism ?
(A) Vygotsky (B) Piaget

(C) Dewey (D) Kohlberg
ﬁqﬂ%ﬁwﬁmﬁm@muﬁmmwﬁm?
(A) FFieeh (B) T

(C) =t (D) et

Which of the following is not an example of assistive technology for visual impairment ?

(A)  Large print book (B) Magnifying computer book
(C) _Speech synthesizer (D) Supplement to text book
ﬁqﬁ#ﬂwﬁgﬁmﬁaﬁmﬁiﬁ%mmaﬁaﬁwﬁmmaﬁ% ?

(A) = fie ) (B)~ Terareres ecgetiepe fover
(C) amit Hyerws (D)  TGAEH Pl FTLS
Hearing loss is measured in terms of

(A) Hertz (B) Decibels

(C) Watt (D) Pound

o H g o o ) oy 2

(A) wad (B) ST



*
& motor skills ?

5T-2
Which of the following is an example of fil ;
(B) Hopping

26.
(A) Climbing
(C) Running (D) Writing
ﬁn&ﬁaﬂﬁmaﬁwmﬂmt?
(A) =gl (B) &
(©),, dgT )

27. Meaning of Schema is
(A) Chunking Mechanism
(B) Learning Techniques
1 long term memory

(C) Organized packets of information stored 1
(D) Defence Mechanism of body

gy w1 Haed &

(A) GUEd

() e Rt
fmfﬁﬁw%mnﬂﬁm%mwmwﬁamt

(D) sréifees wiferarg fpafafy
ce down Into variois basic

are known to break intelligen
rocess it and

Information processing theories
in information, P

then use it to reaon and

28.
skills that people employ to take
solve problems. Who 1s best known @€ ding such theory ?
(A) Jerome Bruner . ean Piaget
(C) J.P. Guilford (D) Rebet Stembers
AT T e @ ’ﬁﬁﬁﬁﬂ?ﬁ%%ﬂ.ﬁﬁﬂﬁi,ﬁﬁ?ﬁﬂ
AT ST H, THA T %Wmilwm%m
1 wiqTea T &g 4B ol ¢ . ] Y
(A) SO R (B) w4 st
() 4. (D) Ve Tan
29, Select the ‘educable’ group based on different level of 1Q.
(A) 70to90 (B) 30to350
(C) 50to 70 (D) Below 50
frer fow e 1Q &R freofia @ A |
(A) 70890 (B) 30®50
(C) 50870 | (P) 50 Qg
30. The unit of heredity is
(A) Chromosome B i1
- (C) Gene ED; E?:;::}::ed =
Fra TR Y HTE §
(A) Y (B) frfem 3t
p.T.0.

i (D) I=S
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3.

33,

35.

6.

37.

39,

(10) _ ST

5 e § el 30 T |

aoft e a2 |

Wﬁgﬁﬂﬁﬁ{ﬁﬁﬂ%’ﬂﬁﬂﬂﬂmﬂ?mé?
(a) < St A Rz Fau R | (B){ Sfte i wifeey 1w dau 2 |

©) S ST I FEaE & | (D) S SR e | w2

() S ded Sl (B) Sl GHH Bl THaAH
(D) 3T e 3T 9%

(C) T FAH AR
g T’ e H1 T Y TAT »vwoa
(A) PO S 3§ (B)(T HiAaEH @ HTT

© hefemdn | e S o 49 e

(A SaT (B) 44l

Fgaiv fafy o1 Ide TE @ -

()t i i

(C) et (D) 3R
ST e e w9 9 fra faf & 98 & e 2 2

(A) weT-geni fafey (B) 3 faft
(©) fm faftr (D) IgAgE fafd
ft.o. =g 3 fen d 7 w1 vt amm R d 7

(A) T 3 (B) /¥eHiHa 39T
(C) ImH 3w 3yrm (D) witgd 39
ﬁ%ﬁﬂwmﬁﬁrﬁm@m%

(A) weg & uf (B) wui@AR

© wedw. (D) 9T & FOT®
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41.

42.

43.

45.

46.

47.

48.

49,

50.

5T-2

3] HIAFHETR—
(A) T (B) ﬁ
(C) THrE (D)
aﬁﬁmﬁmﬂmmmmﬂmﬂm? o
(A) wrafis R 4 (B) 3 WA i
(C) et = (D) o AT
syTftes gt 2 -
@ Wﬂﬁﬁﬁm T:E; maﬁ“-ﬂﬁ“‘“a
© . J
(A) af;;;ﬁ (B}/Tﬂ“'“m
(C) gea-gea qwl (D) ATl
siftre Frgaraig w8 -

(B) Hftges alET

iy i Ao | (B) e H waf e i R |

(A) TR T B FTH

(C) mﬁwma‘aﬂam%l (D) T g vl 1 e IR |

o e e e T & -
@) A (B)
(C)  FreAfEa L Rl
(A) TR ot ) S0 1 | o
| D mm‘ﬂiﬁml
(53 SR HeIpStude{n[)Point.Com
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3 1 e & o ST S35 A S 2R e s v g
1 2 e T | - R ﬁﬂﬁﬁliﬁmﬁmﬁ’fﬁﬁﬁﬂaﬁmmm@ —
3wyl e e g SR, S, FEre e U IR B v A g |

51 ey A A ER T g R ¢

(A) A EY (B) et wifs

©) @ (D) T
52, 'ﬂq_m’ﬁﬁﬂqmm%?

(A) U "!;3@ wrerivTE

(©) = e Bl P

53, ‘Iepd @1 G e TaEy |

54wt weg ¥ R s v A R
(A) T 6 3o8T A Y1 HW qwl (B) SOHFAI
(C) & IHR & AR R (D) fo e e

55, g & foRsft vreg Tamu -
(A) TE ®) F
() = - (D) @
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Tyl itew v 4 “ﬁﬂmmﬁﬁm@w%%ﬁwﬁm&ﬂ%mmaﬁ
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Y
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56. T H I |1 Y qfow Ve @ s R 7 _

(A) e | (B) feuf Y

(C) STdrEo (D) wiuTH : ‘
57, g e e e g g o \

(A) SATEE — By~ Tafa

D) Wet
(C) @Ew & ﬁt };

3. ‘SufETEE T i et . .. SIelE ST
“(A) e Rigia forert R g i ST Tam S |
(B) witferss seafer 1 frgma
(©) sifires & i St o e @ s faa W
(D) IERT & T 1 ]

59, ﬁmmﬁqﬁﬂuﬁfﬁsﬁmmsﬁam I G § S & Hi

st 7 :
(A) S (B) i T
Y@ifera weg =1 374 wanse |

0. ‘ot <] v g g e & A
(A) =R AR 1 HE
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(B) T8 T WEl SR T e
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31.

32.

33,

34.

37.

38.

39,

35.

36.

ST-
(14) #
SECTION — 11
LANGUAGE — 1
ENGLISH

There are 30 questions in all in this Séﬁtiﬂlh
. All questions are compulsory.

Which of the fﬂllowing sentences has thﬂ correct structure of quesl_}?{)ﬂ ;s
(A) Do you have got a car ? (B) Have you gota car
(C) Did you have got a car ? (D) Did you got a car ?

The passive voice form of the sentence — “Thieves broke into my house will be
(A) My house was broken into by thieves.

(B) Thieves were broken into my house.

(C) My house had been broken into by thieves.

(D) My house was broken by thieves.

Which is the correct option ? ‘
(A) Raghu is the tallest of any other boys in my class.
(B) Raghu is tallest boy out of any boy in my class.
(C) Raghu is the tallest boy in my class.

(D) Raghu is the more tall boy in my class.

The passive voice form of the sentence * “Who wrote this poem 7 will be
(A) By whom had this poem beer ..-&
(B) By whom has this poem been

1_,:-,-; -
(C) By whom-wasthispoem wriiten /-
(D) By whom was thi§ poem being written !

Portal

Which of the following sente ;n:%%us the m;gl;?g_ﬂggctlgg}gumsliun ?
(A) Why hadn't ahuﬁfﬁ-ﬁéﬁc eetine ? HoIH 317

(B) Why didn’t she attend the meeting ?
(C) Why didn’t she attended the meeting ?
(D) Why haven’t she attended the meeting ?

“The material should be according to the child’s mental age. mental ability, grade and level'.
Which principle of teaching is involved in this statement ?

(A) Concreteness (B) Accuracy and correctness

(C) Selection and Gradation (D) Proportion

_____means equal treatment to various components of linguisti i
(A) Habit formation (B) P;’merest guistic learning,

(C) Multiple line (D) Proportion
Which principle of teach

(A) The principle of p
(C) The principle of

ing English creates a zeal to learn somethin i ?
€ar g new in language

ml‘gger order (B) The principle of habit formation

vation (D) The principle of selection

The method emergeq

method is » i

(A) Bilingual Methog

(C) Direct Method

reaction of the various demerits of The Grammar-translation

(B)  Play and Learn Method
(D) The Sentence Method
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40.

41.

42.

43.

45.

46.

47.

48.

49,

F

Which method is also known as Natura] Method of teaching English 1

mar-translation method

(A) Substitution Method

55 Gram
(C) Bilingual Method ig; Direct Method
Choose the productive skil] f; i
(A) Listening ey fnm;g;ng Reading
(C) Speaking (D) Reading aloud
What d{} people read for pleasure 9
(A) Literature ‘ (B) Labels
(C) Report (D) Dictionaries
Which technique of reading is used to get at the gist of the text?
(A) Skimming (B) Library
(C) Scanning (D) Aloud -
Which teaching aid can be used to teach listening comprehension ?
(A) Textbook (B) Word cards
(C) Tape recorder (D) Picture cards

What can be used as props for dialogues in order to teach new lexical or structural items ?
(A) Textbook (B) Reference book

(C) Realia (‘}ictinnar}'

‘The testee has to'replace theunderlined word with torreet option.. Which skill is tested in

this statement "
(A) Reading Gt e
(C) Writing a9 aor D) HHEE amy

measures a student’s achievement in relation to a specific task which he w;ill- later

be required to perform.
(A) Productive test
(C) Integrative test

(B) Proficiency test
(D) Objective test

test measures the language skill naturally.
(A) MCQ type (B) Subjective
{ - (D) Reading

(C) Objective

What is the cause of failure in learning a second language ? (ki
(A) Home assignment : (B) Over simplification of target language
(C) - Diagnostic test . (D) Reading strategy

Grammatical Errors refer to
(B) Spelling errors

(A) Inappropriate words
(C) Lexical errors (D) Errors in syntax
P.T.O.
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ca :
rose P““ge—] {Qrﬂr&ﬂy ;Ff“agg;ver the questions that follgw, : “‘1
€ pollute our eny; . .
of waste r, - OUr environment by throwing differen; kinds of
: ; t
Thianrie Iﬁ:#lu;tmn, Waste reuse and recycling are the preferred D[:i‘:;: Fgf"ﬁnl_lisrfly: Methgg,
1S OTe Serious in cities because sometimes it is difficult to find H?E-I::;Jg o

to dUm th

hours ang - \2Ste. Garbage bins overflow in big cities, The waste be ins t o acy

heal U‘iaé‘;:':il:] lg]nks. It t_lecnmes a breeding place for harmful bacteria whligchbwgm :ﬁﬁ few, —
I5eases like malaria, typhoid. cholera and dengue, etc. Pread j,

S1. i
Which of the following words is a synonym for ‘dump’ ?

ES; f]lﬂpqsc of (B) cater

- ourish (D) deck
< antonym of ‘reduction’ is X

© Promotion (B). diminution

o }_ Ind}lctmn (D) decomposition
»  Which of the following words is correctly spelt ?
Fartile (B) Furtile

(C) Fertile (D) Fortile
54.  The verb ‘pollute’ can give us the noun

(A) pollutation (B) pollution

(C) pollutable (D) polluted

S5.  Find the correct one word for the phrase given below :
‘Converting waste into reusable material’
(A) garbage (B) recycling
{C) managing waste (D) breeding

Read the passage and answer the ques 'un%at Dllow :
Prose Passage — I1. (Q. Nos. 56 to mﬁf‘?:ﬁ_;fr——
I haveadeess to safewater and to.avoid watet-crisis i the near future it is necessary
that correct policies and schemes are maﬂ?e._Watcr consepvation and its proper management
can also be considered ascena of thee : 0 avoid water crisis. India has a long
B o o ; Educatic - L ,
tradition of water harvestim: ; 2 rdl 1s one of the most effective ways to
' rain water where it falls, use it

tackle the water crysis§ b?@'ggip ersgtatol
and let it seep into the ground. In this Rashtrapati Bhawan is leading the way. It is one of
the few buildings in Delhi that conserves rain water. Aizaw] in Mizoram meets most of its

water needs through roof top harvesting,
Which of the following options is an example of *demonstrative pronoun’ ?

(A) This (B) 1
(C) Its (D) Then

57. ‘I have access to safe water.’
The underlined verb — ‘have’ is an example of \
(A) An auxiliary verb (B) Verb in simple present
(C) modal auxiliary verb (D) verb in present perfect

Which of the following has the three degrees of the adjective in their correct form ?

56.

58.
(A) Near, more near, nearest (B) correct, more correct, correctest
(C) few, fewer, the most few (D) effective, more effective, most effective
59, In the phrase ‘water crisis in the near future’, the determiner used is
(A) water (B) crisis
(C) the (D) near
60. Conjunctions in the passage are
- (A) and, (B) as,of
| (C) where, let (D) most, through
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39,
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45.

(A) Pt
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(A) s
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(B) safSa
(D) w¥Rf=E=

(B) ZHAMEANEHUIATY
(D) CHEECa L

(B) tafagf3mm
(D) HUHY
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Identify the wq
(A)  Concept
(C) Sect

= 4 in Which g

62.

_ /dginrik
Taking into acco
Eg}] Eeaching c
esired goal of tea
(C) Only lingujstic hab‘i:th

(D) Only leaming of Enggli?%nag

63.

an be diffjey)

psycholingu
bove

65. In Communicative Approach 1o |

(A) Better to tolerate errgrs in s

(B) Not to allow students” ta express thetr

E iﬁdunts‘ ﬂ ttemﬂéto ﬁ%ﬁss their selves
One of the language digape iClEd whag<r<l 31197

(C) Not to tolerate errors i
(D) Better to note down th

66.
learner is missing the class

learner is speaking in class

(A)
(B)
(€)
(D)
Language disorder means
(A) Difficulty in understa
(B) Difficulty in expressing
(C) Trouble producing some
(D) Either or both (A) & (B)

Articulation error occurs due to
(A) Formed speec:ﬂhahlt

B) Slurring over ar
EC; Learner’s intelligence
(D) Leamner give imporance
Remedial teaching involves

A) Improvement O
ECJ} Eit]Pler{A}andfnr{B}

67.

69.

_— ach to
Communicative 8pProc=, T, -

A) Content relevancy
Ec; Both (A) & (B)

70,

nciples of Jap

Ing English langyag

f learning skill

Evaluation
bulary

€ can b i
’, dweloped ¢ achieved

a second language will be enhanced

lish Language enables the teacher to;

stic principles

principles

stic and educational principles

: her must know why it is
dents; atiempt.to exprestheir selves
selvés

tu

learner speaks in short and fragmented phrases
learner speaks the full sentences

when a child has
anding the meaning
his/her thought
sounds accurately

d clipping sounds
to stress & intonation

(B) Rectifying a particular problem area
(D) Neither (A) nor (B)

stresses on, o
(B) Fluency & Flexibility

(D) Neither (A) nor (B) P.T.O.
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F ; . .
of evaluation outlined by CBSC is
" Raceﬂ(t:;‘:]‘;?;ﬁensive & Continuous Euzluatinn
) Continuous & Comprehensive Evaluation
{E‘g Continuous & Communicative Evaluation
ED) Communicative & Continuous Evaluation
Remedial teaching should be carried o
72. (A) Textand test
(B) Text and leamning

(©) Malady on language test and it causes
(D) Merits of teacher

edial program is designed keeping in mind
73. Eﬂ“ Each student’s strength
(B) Each student’s weakness

(C) Each student’s strength and weakness
(D) None of the above

emedial teachingisa
' . E’L} Preparation of teaching

ST-2

ut after identification of

: (B) Pre-teaching program
(C) Systematic process (D) Random process

75. The basic requirement of a language proficiencies test is that it must be
(A) Reliable

(B)-. Complex
(C) Ambiguous (D) Simple

Passage : ; _ :
In spite of rigorous precautions agains cc’. Mmany people are injured every year in
factories and elsewhere. In addition, SGIT‘IM born with physical disabilities. They are
either blind or deaf Of in some Way, deformed from birth. Uptérquite recent times, little
planned action was taken to fit handicapped people for employment. A number of charitable
organizations tried to help them in {ak@y o HatGah] ﬂmﬁﬂseﬁmm]y held the idea that these
people might still have abilities in th%%%uclim%la@ 31T

76. Which one of the following IS the émi ost appropriate title for the passage ?
(A) Rehabilitation of the physically challenged
(B) Physical disabilities..
(C) Accidents
(D) Planned action

77.  In the above paragraph, ‘In addition’ indicates
(A) Emphasis

(B) Addition
{(?] Sequence (D) Alternative
78.  Either those children or my own son picked all the flowers.
Eg; have (B) has
is

20 (D) are

In the ﬂl}OVE Passage the author w
! ants to convey
(B) many people in the world suffer from phsical disabilities
©) P’w}‘-ﬂmm Ar€ not taken against accidents.
(D) ]:-ﬁopre Who are Physically challenged are fit for employment.
80. No: pysically challengeg People have no scope.
: t“?t:?spc*]ilr]i]:ﬁiﬁmmaa}ﬂ h,eadﬂﬂh& Two aspirins will make a headache go away. Therefore,
bove lines contain > children go away.
(A)  The fallacy of equivocat;
(B)  The fallacy of false anzl.:,{én
(C) The fallacy of hasty geheralization
e fallacy of composition -

‘
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Extract : Couri (43)
our love :
impression fi]] aind Pity doth the
Which vy
my brow; SAT Scand] Stampy 4 upon -
‘ For what care [ wh
or ill, Calls me well »
S0 you o’ey |
-Ereen
The thyme scheme My bad, m
(A) abab of the eXtract i Y good allow ""
(C) abba (B) aabb
: . (D) abea
‘One proven way tq beat an ;
heel mean ? , €nemy is find his Achilles heel’ i :
) Amuist eel’. What does _ﬁndmg Achilles
(C) Strong point (B) Weak spot
(D)  Secret strategy
The Wolf with its belly stitched
: full of bj .

N1be:1ung wolves barbed like black p?n;} lf%l!:;:lt:bhs,
Aga.msl a red sky, over blue snow .
Which figure of speech is used in the above extract ?
(A)  Metaphor (B) Simile
(C) Alliteration

(DY Assonance

Which one of the following is ﬁomcﬁmmualiu rhyme’ ?
(A) Assonance ) . Per

> _ . (B) ; Personification
(C) AIhteraan (D) Rhyine

Which figure of speech is unnumu%ﬁ%ﬁ and non-sense verse ?
(A) Alliteration A a9B).. Ssmré

(C) Rhyme (D) Metaphor
x i have brought this umbrella.
It's a beaunf;‘ul day. | G et
(A) mustn’t ;
(C) shouldn’t (D) couldn’t
| with an email or a letter.
Youshould ___ your phone call Wi e wp
%} fﬂ{lﬂ“’ on (D) show on
) eon

“What time shall we go shopping " “Let’s seehow the weatherlooksand " Insert
the correct idiom. (B) play it by ear
(A) raining cats and dogs (D) callitaday
(C) turn ablind eye
Sonnets usually are in (B) iambic pentameters
(A) free verse (D) verso tronco
(C) jambic trimeter

: lay is B) playright
A person Wh‘.:' writes 8 PI&Y ED:; g]a}fwrite
(A) playwright

©) Diaywriter P.T.O.
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(C) SATETRE (D) YEfer: 79: A
71. P, Sty , s I e we: v w9t ?
(A) rETTHTIET: (B) aegfrewdiamar:
(€) Frearuasghama. (D) FadgheT:
72. Toemen s s v wise:
(A) ATty (B) HaEvEy
(C) wefaugramon frresong (D) HEHU
73, ST ArEAtRaaff: anfvgergafifie et s srvifteed 7
| (A) 1948 a8 o B a9
| (C) 1949 7 . T’%tlmﬁ
|
74, FR
() 19657 gaa At @i%% 3
(C) 19757 (D) 1967
75.  uftafherifasriiean s anfem snmEq, ?
(A) 1948 a7 99 (B) 195078 99§
(C) 1966 77 a9 (D) 1968 71 99
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SECTION.1y /gvg _ v

n this Section, there are _
Social Studi Sub-sections ie. IV(a) Mathemati i d
[v(b) d0¢€ udies. Both ematics and Science an

the sub-gecti
-s -4 #
€ctions consist of 60 Multiple choice Questions each.

The candidate has to chogge cithies

IF’(H.] Mathematics and Science OR 1V(b) Social
Plication Form and answer ] the 60 questions.

IV{H}.TI'RE{W .
iy R & 1v(b) s s # | 2 avave &

wrefl S 1V (a) T v Ry sveray IV(b) wmises s, R s sifemss amdeq-oa &
i 8, 7 @ et o Svave 9 g 4 od i 60 ¥¥ 1 F1 w2 |

SECTION-IV (a) /@S - 1V (a)

MATHEMATICS AND SCIENCE / Tior aerm fsm

E___‘-I__._A
There are 60 questionsin all in this'section. Thé candidates whahaye selected this subject

must answer all the questions. ,@j tion|P :
wave 3 et 60 W & | o sy s e L s IS EH e 0 A €

91. Ifratio of the volumes of two cubes is 27 : 64, then what will be the ratio of their surface

areas ?

(A) 3:4 (B) 4:3

(©) 9:16 (D) 3\3:8 =

ﬂﬁﬁaﬁ#mﬁwwzmﬂt?ﬁ:ﬁ‘{ﬁ%ﬂmaﬂmw .
(B) 4:3

A) 3:4

EC; 9:16 (D) 3\3:8

the height of the pole ? (use ® =7

() 3m
(A) 4m p) 6m o
(€) Sm @#ﬁ@ﬂ%gﬂmﬁawm‘5““‘”"”'@@
T FHTHN
R )
' (B) 3 HI
© st alkeid

M"/
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Mathematics

54, 46, 24, 36, 84, 7
Grouped frequency distribution table of abov

HelpStudentPoint.Com

20 students of a class obtained fol

0, 16, 58, 6, 82, 44, 54, 32,
e will be

(66)

lowing respective marks

64. 8, 66, 52, 28, 16 and 30

¥ (B) | S. Frequency
(A) 13.: Class | Frequency No. Class; | s
' 4
1 | 020 4| '—L"‘Q-%H'T_
2 | 20-40 51 O 2 | 20 A
3 | 40-60 g ] Jﬂ_@-ﬂdﬂ--:}ﬂ-ﬂ
4 | 60-80 3 4 60;&1._._-5-#
5 | 80-100 2 5 | 80-100] = —
D)| S.
© :ﬂ Class | Frequency () No. Class | Frequency
t | 020 | 1 [ 020 | 3
[ 2 | 2040 Q;Az (2040 | S
3 | ‘4060 d DAL . 6
4 | 60-80 ; Stionic ! 80 | 4
5 a{}-luﬂm@fﬁ 15 180-100,] 2
coe, > "
o w1 % 20 B A 1 v 100 371 # & Faw: T 37 1 f6d
54, 46, 24, 36, 84, 70, 16, 58, 6, 82,44, 54, 32, 64,8, 66, 52, 28, 169 30
I i wtepa arcamwar aweft gt |
A) |wE.| @ | wawar | (B) |HE | ¥ | *HEwA
L 0-20 4 1 0-20 4
2 | 20-40 5 2 | 20-40 6
3 | 40-60 6 3 | 40-60 5
4 160801 3 4 | 60-80 3
5 180-100] 2 s |s0-100] 2
© |wa.| = | w . _
2| 20-40 : Lo 2
3 | 4060 6 i ig"m 5
4 | 60-80 3 = 6
5 | 80-100 o L0801 3
: 2 5 180-100| 2

out of 100 marks in subject




95. -

96l

9.

Note :  Details of (67) F
. . ar .

subjects of Examinati{,ntsfnhtamed by g

obtained by Seema ip class

questions (94 & 95) .

are shze,,,:n 80 i',““dL English, Mathematics and Science
these subjects is Tn diagram given below. Sum of total marks
80. Read carefully and answer following

gﬁﬂmmmm#ﬁmmmm

Wﬁwmﬁmqﬁsﬁ

How many marks obtained by Seema in Mathematics ?

(A) 95 (B) 116 (C) 109 D
3 e Rt 37 ST fod 2 R
(A) 93 (B) 116 (Cy 109 (DY 124
How many marks obtained by Seema m{mm comparison of English ?
(A) 36 Cha )

) ; (3), 043 @i A oS (D) 30
dio 3 ferdt & aidsnt oY o A fehd 375 31THe Wit 1369 2
(A) 36 L ducationiBortal (D) 30

ﬂﬂ? dol... &

Out of following which is not the exact characteristics mtives of Mathematics
teaching in classroom.
(A) should be related to life (B) should be in behavioural terms

(C) should be testable (D) should be specific
ﬁﬂiﬁﬂﬁﬁmﬁnﬁmﬁlw%ﬁﬁﬁmﬁﬂwqﬁ% :
(B) SR val H € =eT |

(A) e @ gafta g7 SeT |
(C) ey arey g = | () faftre €9 =fee |
out of 80 awarded by different examiners in a test of

42 marks : :
i g R haracteristics of evaluation out of following :

Mathematics, this shows which ¢ S

(A) Objectivity Eg; ::::::l;i;rhility

;‘gq:ﬂ“ﬂb”“;m_ el 2 o 3 e & g0 & & 42 3% THF ¥ & TG F
e 7z e G RA A AP 'a'i’}'f" i ¢

(A) ewgfear (e —

(C) fawawHiaan ©)

. ) n-"/
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99,

100.

101.

102.

103.

o

(68) oty |
Out of following which is limitation of objective type guestions 7 |
(A) Guessing |
(B) Difficulty in construction
(C)  Cannot measure complex process
(D) All of the above
Frefefea § @ awfie ver 3w H @ d
(A) IFH9H & (B) Tamior 3§ wfemé
(©) e sPrmsfiRqamesn (D) Iwdw aft

Out of following which of the teaching method in Mathematics is difficult to use in formy

classroom situation 7 .
(A) Inductive (B) Deductive (C) Project (D) Analytic

ﬁniﬁmﬁﬁ%ﬁnﬁﬁrmﬁﬁrﬁahwﬁmwwﬁmm#&h
(A) IPTHITS (B) frmaems () WA (D) vt

Out of the following, Language of Mathematics is
(A) Symbolic (B) National (C) Complex (D) Vedic
Fr=ferfiaa & & wrfor <61 sy 2

(A) wharerw B) W () R (D) M

Out of the following, 'uta[]nmai?&a?n.’iﬁ‘%ﬁ%f sense is a
(A) Conereté Science (B Absiract-Seience
(C) Physical Scfm:me (D) Relative Science
e ERNRCEEE n i ucation
(C) ey e (D) wmifér g

Out of the following which is not the characteristic of reasonin g in Mathematics ?
(A) Accuracy (B) Certainty of result
(C) Originality (D) Subjectivity

TR 1 e ) frdear frerifea § A T8 2 .
(A) " Tear (B) W&Wﬂﬁﬁ%ﬂﬂr
(C) itferaman (D) freg-fem

Out of the following, what is most important characteristic of ora] work in Mathematics

for school students
(A) It develops mental process (B) It saves time
(C) Not require paper pencil (D) Able to solve questions orally

ﬁm%&aﬁﬁ%m%ﬂﬂﬁﬁ%ﬁiﬂﬁmﬁﬁmwﬁmww
g:

(A) ﬂmr&mﬁmﬁmmﬁtl

(B) FuHFESTH |

(€) IR-Ie ht Sravamar 7 4 |

(D) i ¥ & T B wet HY G et R |

HelpStudentPoint.Com
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jod. Out of the followin, L .
articular] )
PA] LCD}:mG?t useful fop teafﬁggﬂ of Information and communication technology is
( Projector " graphs and geometry ?

(C) Interactive White (B) slid i
Bo 1de Projector
et § q Eac| a;i (D) Television

|1
waifer It § ¢ ea T 1o avtor fafire e e s e s favgr
(A) THE. Wi

(©) 3: T v g ®) . T sier

105. The synthetical method sh

(C) Analysis Eg?; ?}Ethegis
fraeg o wqrfirfy W fﬁl{ ; uction

e wtTTS il i frerifer 3 wver R s \

(A) TR (B) weerwor
() Taemm (D) B

106. Value of'VL 3+ x__fm- 18+/3 is
(A) 3 &SQ?—‘

N RVEERNCTRIENEL Ll Glication] Portal
(A) 3 a9 A% a9 e m
©) -3 (D) 0
107, If (497 — 4% +4%) = k.4%5. then what is the value ofk ? _ iE
(B) 64 :
A) 16
:C; 13 3 P) A ¥ |
e (497 - 4% + 4%) —kAY R, AFFTAE
64
o ¥
|4 A £ ' d
{:]I
W50+ Log= 2 zjh” (B) (Sa+ 2b) (a - 3) ;
::; ga i ;:; ::_ 3) (D) (5a-2b)(a+ 3) "
o 3
Sa? + 158 - 60— 200 7 (5a+2b) (a-3) :
Dy A ..
a—-
n

o~ - AFO™ -/



A S e — =

¥ (70)

109. What is the value of ——— +~ [-2= 2
3 g 3
1000

(A) 9 (B) 3
& 27 (D) 5
L . 2fin e ¥
1000
(A) 9 (B) 3
(O 27 (D) 5
110. If 2x - 3y =79, x + 6y = 47, then what will be the value of (x - y) ?
(A) 40 (B) 32
(C) 38 (D) 42
I 2x— 3y =79, x + 6y =47 &, A (x — y) T °H T &M ?
(A) 40 (B) 32
(C) 38 (D) 42
111. (3x +5)* - 60x is equal to \-QQA
(A) (3x+ 109 (B)_ 3% 5)
(C) (Bx+12)° (D) “(3x - 12)°

-

AR

(Bx+ 5P -6 Fadat iiLe.tion
(A) Gx+100 TTH AIB)..(7TFFH 31T

(C) (3x+12)7 (D) (3x-12)
112. What percentage of 80 is 80 ?

(A) 64% (B) 80%

(C) 90% (D) 100%

80 =1 fapamn wfemma 80 2 7

(A) 64% (B) 80%

(C) 90% (D) 100%

ST-2

113. A T.V. seller sold two T.V. at the rate of ¥ 9,600. Out of them, he obtained 20% profit on
one T.V. and 20% loss on another T.V. How much profit or loss percentage is obtained in

whole transaction ?
(A) 10% profit (B) 4% profit
(C) 4%loss (D) No profit no loss

s 2effae fshar 3 9,600 91 X A A ehfaem ¥ | 390 & U JefifEeH W 20% M I

gar 2efifere T 20% T g o 3w W & fore sftvera o &1 S 2

(A) 10% @™ (B) 4% &M
(C) 4%®H (D) AE™MATH
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116.

117,

e e i F
the Workerg ask in | ‘
(A) 20 Will be requireq ,:5 days. If this task is to be completed in 4 days,
C}g}‘:; (B) 13
T D

1L 6 qq-g 16 oy ) 28
sl T 2 o
" 20 | a2 75 e 4 o & g e @, it Fer
) 24 }g) 18

. ; ) 28
If simple interest is ¥ _
amount ? ks Years at the rate of 8%, then what will be the princi
(A) 1280 ' L Wi peactpht
(©) ﬁ;‘;,zuo Eg; : 1,600
S A E I RS 250 |

5 o & wrwy
(A) 21,280 : ST T 640 B, T HETe 418 2
©) %3200 .
(D) 2,400

Th:EZ:;lz ttaliiget of lélcrease in number of students in a University by 10% every year. Ifin
s number was 1500, then in year 2018 on completion of target how many

students will be there in University ? ’
T (p) YA

(A) 1800 (B)
(C) 1700 . IR A LB
s fergafirerd # 37 7 3 G 53 ¥, S e & | AR
2016 98 GEAT 1500 ¢ 7t 4 20LF At &8 e i e e @ 2
(A) 1800 psivdis. TS 31T
(C) 1700 (D) 1915
Which condition applies of congruence of triangles in the diagram given below ?
B ]
D
A . f
_ _ (B) RHS rule
(A) S_ideﬁslde-sldf: rule D) ,qngle-Side-a“nﬂglﬂ rule \
(C) Sidv.a--ﬁi!'lB]‘5="5i':IE mlﬂw =1 i yferay 0L 3 g
413 o R & 00 91 !
B ; D



F

118. Correct pairs of dissimilar saépplementary angles in

119.

120.

(72) ST-2

the following diagram are

B

A F\j*[}
E
(A) <£DFE and ZEFA: ZAFB and ZBFD
(B) ZDFE and ZAFB; ZEFA and ZBFD
(C) £BFD and ZEFA: ZAFB and ZDFE
(D) ZAFC and £DFC:; ZAFB and ZDFE

A Fe2 7 o 3 sy s ot 35w g
C

(A) <ZDFER ZEFA, ZAFB 3. LBFD

B ZDFE 9 ZAFB: ZEEAS BE
i _ ’jf, E@g@fﬁn%ﬂ
(C) ZBFD49 ZEFA: ..{.E J

(D) ZAFCd 4D

Two parallel sides of a trapezium are 10 em and 16 cm respectively. If area of the
trapezium is 78 cm?, then what will be the height of the trapezium ?

(A) 13cm (B) S5cm

(C) 6cm (D) 8cm

U wHerd S i @ T el e 10 3R 16 A E afe wwer = 1 Sawe
78 5 Aelt &1, T Iuehl Jrard w1 Bt 2

(A) 13%H (B) 5@t

(C) 6wt (D) 8 h

What will be the circumference of half part of a circle, whose diameter is 56 ¢cm ?
(HSGTI:%)

(A) 44cm (B) 88cm

(C) 22cm (D) 66 cm i

56 &t =amE aret fonelt 9 % 3 sy ) wify = ERR ?(n=?mﬂnaﬁ’rﬁm]

(A) 448 (B) &g @t

(C) 22%d (D) 66 @
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121.

122.

123.

124.

125.

(73)

Cristae are found in which
(A) Golgi bodies
(C) Endoplasmic reticulum

cell organelle 2
(B) Mitochondria

ﬁﬁaaﬁﬁlﬁmﬁﬁ?&ﬁ‘nﬁmﬁﬁ%? (D) Chloroplast
(A) Tiestrg

(B) Hrrwifoga
(©)  sra:wg=ft sl (D; W -

Which is an insectivorous plant ?

(A) C iculari -
_;Ig,mﬂ%f_riﬂq ard ?[E] Utricularia  (C) Monotropa

(A) T B) et () A

Which is a red planet in Solar system ?

(A) Mercury (B) Venus
(C) Mars (D) Saturn
HRAUSH d A TE B AR 7 |
(A) ¥ (B) W
(C) W& (D)3

: | =, S\
DOTS is a short form of

(A) D{Iect]y Observed _T.re-atmo:D tal
(B) Directly Observed Treatmen SChemie
(C) Distantly Observed Tres¥foht Sthtine. TT<IEl 3TTY
(D) Distantly Observed Treatment Schedule

DOTS, forea &g @& & ?

(A) Weusr Sfda ITER, g™ (B) wea i S s
(C) qmﬁﬁmmzﬁm (D) ‘Y S TR FRHA

Which food group is richest in energy in terms of kCal per gram ?

(A) Cereal, Millet and P;ulses

(B) Vegetables and Fruits

(C) Milk and Milk pmdu;{ts(,}hl 5 ¥
1 ts and Nuts ils

gzlmoa;’l:q[;i{;, et St wfd T IR T, Footl T @ 7

(A) 3, e @ g

(B) wufewaid & P _

(C) quag:ﬂaﬂra 3ve, gt wd weel

(D) 3o & a1 U gghe & faeTed

Egg, Meat and Fishes

JE— pog /

(D)  Orobanche

(D)  E=hr
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130.

127.

128.

129,

—

|
ST |

(74)
Which one of the following statement is correct with reference to Luteinizing Hormone
(LH)?

(A) It stimulates Leydig cells to produce testosterone,
(B) It is a neurohormone.

(C) Itis secreted by Graafian follicles.
(D) It does not show synergism with FSH,

q@mﬁﬁh%ﬂﬂﬁﬁnﬁﬁfmmmwa?

(A) ﬂ?ﬁ&nﬁﬁmaﬂaﬁ%eﬁﬁqm%ﬁﬂmﬁam%l
(B) Tusdfimamng, |

(C) & uThi gewh & wifad Bt 2 |

(D) & FSH % wry we! 7 gwifan 2 |

The strategy of alternation between sex
(A) Polyembryony (B) Parthenogenesis
(C) Heterogamy (D)  Apomixis

S T i T 3 frer v 0 R e 2

ual and asexual reproduction is known as

(A) =gy (B) PrwwH

(C) fowmpm (D) TS
Objectives related to affective dhﬁmﬁ{ﬁn!} congernedywith
(A) Knowledge (B). Application

(C) Valuing Educal”ion nasehd)sion
HrETeHe 498 o m@%q_ga R gL o Sy
(A) TH (B) rgwam

(C) T (D) @i

Which one of the following is not a characteristic of good test ?
(A) Reliability (B) Planning N

(C) Objectivity (D) Discrimination
Freferfen 3 & =4 o fdwan v som whew £ 8 2 -

(A) fwawtaa - (B) Ao

(C) w=gfEa (D) - fervigemiitan

An example of projected teaching aid is

(A) Bulletin board (B) Overhead projector
(C) Chart (D) Model

et Rreror w1 o gEw 2

(A) gHRAEE (B) A TR

(€) =R’ (D) wiew
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131.

132.

133.

134,

135,

Out of the followjp & Which, (75)

A) Lecture. teach;
{B } L o cum‘DEmnnstrat?hmg Tethod
(B) Lecture method On methoq

(C) Problem sojyip,
(D) Laboratory megpog "¢

gives importance to the mental conclusion ?

freferiea 3 & a3

's'mﬁh%

(A) Wﬂiﬁlﬂtﬂ?ﬁ&, {B imﬁmmmg?
(C) I T fay ) = fafly

Out of the fnllnwing
(A) Scientific laws of Science” ?

(C) Formulation of B Scientific attitude
Ypothesis (D) Experimentation

ST & Swia a2

Which comeg under “Produyct

Out of the following which i : , :
of teaching ? & which innovative teaching method covers all domains of objectives

(A) Team teaching (B! wchin
; . iy Migroaching
(C) Brain storming (D) Programmed instruction

Preferiaa & @ wi= o sramnd B Rl 3 o 5 el % oo oes 21 wmm A § 7

Which type of teaching should be planned after diagnosting the learning difficulties of the
students in science teaching ?
(A) Micro teaching

(C) Diagnostic teaching

(B) Team teaching
(D) Remedial teaching
iy ATl & Figr % 3T e SR < fireo i =z

forgr favaor 3 forefifat 1
i (B) & fgw
N s e

f determining the extent to which educational objectives are

ic process ©
A systematic P iIs is known as

achieved by the pup (B) Evaluation

(A) Training (D) Experiments 3
(C) DiagnDSiSGh tﬁmﬁ-ﬁmmﬁmﬁﬁﬁﬁﬁmm%sm
R G S (B) T

(A) whrEo (D) T

(©) fagm

—

sauwyn e~ ~
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136. “Defining” Action verb is related with which behavioural objectives ?

(A) Affective (B) Psychomotor

(C) Cognitive (D) Affective and Psychomotor

“gfonfee HE" T weg fohe sEETTd 3tvd @ wafRm R 7

(A) WHETHS (B) WIS

(C) WA (D) WTETEH T§ FAHAT

137. Out of the following frame of Linear Programmed Instruction, which of the following
frame is exactly related with teaching-learning content 7

(A) Teaching frame (B) Introductory framé

(C) Testing frame (D) Practice frame

Yt sifiwfa e % Praffas v @ 2 @1 vg Pffew w9 & verd s et fawaeeg
Ygmfad ?

(A) Tgueg

(C) uligm ug

138. An object of mass 0.75 ke ishanping front 4 s{ring attached-to roof: What will be the force

applied by string on the objec{Z: b= (om GEncEl]

(A) 845N IO a8 38
(C) 685N (D) 98N
| 0.75 kg Z99T 1 T fivg Ta & M S @ wresh gan ® | K g five v fpaan @e wm 2
| (A) 845N (B) 735N
| (C) 685N (D) 9.8 N

139. Which of the following statement is true for an oscillating simple pendulum ?
(A) Potential energy is minimum at maximum displacement position.
(B) Potential energy is maximum at maximum displacement position.
(C) Kinetic energy is minimum at equilibrium position.
(D) Potential energy ‘s maximum at equilibrium position.
T I HA WA oo & el e asr o sm a2
(A) Hftrran far TR e # fRufos Fot =man @ |
(B) e faua e § fufoe ot w2

(C) wTeA 3T & et St e R |
mﬁﬁﬁmmﬁw
() A Help {YbntPoint.Com
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(41.

142

143.

144,

143,

which of the following ter, vl

(A) —8°F A1Ure is ot possible 7
[C] = S k (B} = E EC
P & T g g, R
(A) — 8 °F | B
© -8k o 2
- ﬂR
| joule is equivalent tq
(A) 4.2kCal (B) 4.2(a (©) ok kCal
S— ‘ﬁmt 42
(A) 4.2kCal B) 42Ca (€ 7skca
What should be the minimum height of a plane mirror to get full

height ?

D) 35Cal

|

(D) 35 Cal

image of an object of 2 m

(D) 05m

(D} 05m

(A) Im (B) 2m €) 4m

T FHAE 901 & 2 m S i ag w1 ol whifem 3w & R ol i =gem S e
B =i 2

(A) Im (B) 2m ‘(C;,}—ﬂ

Sound transmission takes place as
(A) Stationary transverse wave

Por

té:i wave

(S duce tion(Boit
(C) Progressive lnngimdinalﬁa&%ﬂ?]a%ﬂgftic.l:f form -

e o1 FOT B 8
(A) e ST o w9

(©) vted smf e ¥ H

a Green-house gas ?

(D) w0 EEd H

Which of the following 18

B) Hydrogen
ECA} gitrogﬂ" ED}i Nitrous Oxide
) ygen g2
HaraENAE
Prafafga d @ ®) B,
:‘“‘) Yo (D) TS
C) afater
rl“'rllﬂ N
(Chﬂmma] f;nnula UfAT;;ﬂn;NH DN (C) (NHg);
e & H,).N
Hﬁﬁ'ﬂﬂmﬂﬂ B) (NH.q}zN ©) (NH);
(A) NH,N

(B) e S 7 w9 A
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(78)

Monomers used to prepare artificial fibre Dacrop js
(A) Ethylene glycol and Acrylonitrile
(B) Ethylene glycol and Vinyl Chloride

- (C) Ethylene glycol and Terephthalic Acid

147.

148.

149.

(D) Ethylene glycol and Acetonitrile
T WM S T § oy voers 2

(A) et wemsehTer aen Yfpeirezre
(B) Mmﬁawmm
(C) TRyl vermgsier aon Redferes amer
(D) wfrefta wemgshier aen Yefermgreer

Antacid substance used for the treatment of acidity in stomach is

(A) C‘a_lustic soda (B) Caustic Potash
(C) Milk of Magnesia (D) Lunar Caustic

ST 3t ST 1 ITER 0 3 R0 e s s &
(A) Hifees Gl (B) Wit diew
(C) Toress 317w Avfifaran (D) oW Hiees

Coal containing maximum p%fuarhan 1S

(A) Peat (B Licnite
(C) Bituminous

Hige ot weda ) st
(A) die JaIA Aot . . (BIHERESITI
(€) fagh

Which of the following is an output device ?

(A) Magnetic Ink Character Recognition (MICR)
(B) Optical Character Recognition (OCR)

(C) Optical Mark Reading (OMR)

(D) Visual Display Unit (VDU) :
Fr=ferfiga & @ 17 a1 3eye sy # 2

(A) HHfEH 3% wiga e (MICR)

(B) HAffeeher iaet ReTHIE (OCR)

(C) 3ifReet 71 Tf&T (OMR)

- (D) fagam feest gfe (VDU)

150.

Who discovered Penicillin ?

(A) Edward Jenner (B) Robert Hooke

(C) Robert Koch (D) Alexander Fleming
PR S e 1 7

e I (B) THREF

o iy
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ﬂ'llS 5
ust answer all the : e ! i
" questions. he candidates who have selected this subject

ggﬁ“ﬁﬂﬂﬁ 60 w¥7 §

01,

92.

What does ‘we the

India mean ? People of Indiy’

48 mentioned in th i
el S ¢ preamble of the Constitution of
. e . : € Chief Justice of Ingdja
ereignty lies with the P

e i . ‘ eople of Indig

. gnty lies with the Political Parties of India
(D) ;Dverﬂlgﬂ.l}’ lies with the Speaker of the Lok Sabh
WRd & § “

HIET Y s § 3oy B WRA AT AR A R 7

(A) EEYAT NRA % gEF =reia 8 fifka 2 | '
(B) EIYAT WRel & w7 1 ffea 2 k’A
(C) WA NIl 35 T i Bl a1
(D) WA b % 31 A R R (oo (et

Under which Article of the Constitution of India untouchability was abolished ?
(A) Article 16 (B) Article 17

(C) Article 18 (D) Article 19 _
m%#ﬁmﬂ%ﬁﬁﬂmﬁﬁimﬁﬂmﬁmﬁmw%?
(A) 3T 16 - ® IR 17

(D) TG 19

(C) argese 18

Constitution of India the Fundamental Duties are enshrined 7

I: which part of the @ Patll
:C; :ﬂﬂ“A | ;faﬁ( ! %ﬁﬂn 2
3‘:} e T,
: i A e
T 3 SaEH % 69 & i

(A) Wm-V (D) TV

(C) wm-1V-A
- /

o e v
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95.

96.

97.

HelpStudentPoint.Com A
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E
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(80) -

Article 25 of the Constitution of India is related to

(A) Freedom of Conscience and free profession, practice and propagation of religion,

(B) No discrimination would be done on the ground of religion, race, caste, language o
any of them.

(C) Right to education.

(D) Minority Institutions.

Tt ST 1 Iy 25 ety

(A) aﬁﬁ:maﬁﬁﬁmmﬁﬂ*ﬁ U & T, e R FER ) wEaEa

(B) &, e, sy, wﬁﬁﬁéﬁ%ﬁm%mmﬂiﬁmwmaﬁm [

(C) e = sftmr a

(D) 3IreqHES e

;

Which of the following is not a constitutional provision related to Social justice ?
(A) Reservation for SC and ST in Government jobs.

(B) Reservation for SC and ST in Legislature.

(C) Equal pay for equal work.

(D) Prohibition of Child Labour.

P & 4w & e aurie sraum T 2

(A) g s o e e AR et s
(B) Toremfernt & Sragiu i, e A s
SRR L F T ica tion] Portal

() e iy I AST... 999 3

What is the Quorum required to run the proceedings of the Lok Sabha ?
(A) 1/4™ of total members (B) 2/3" of total members
(C) 1/3" of total members (D) 1/10"™ of total members

mﬁm%m%ﬁﬂqmm@%@ ?
(A) T UCE W 1/4 5 VT (B) 5o wew W 2/3 5t
(C) e 6T G411 1/3 3 97T (D) o1 9C&I &% 7 1/10 31

- T T T T DT M TR T e T,

Which Article of the Constitution of India provides for a Council of Ministers which shall
aid the President in the exercise of his functions ?

(A) Article 74 (B) Article 78

(C) Article 79 (D) Article 80

YRd ¥ HEUH % $1 3 Igese § v dhufeg w1 y@uE @ @ R teefy w sge e F
firdfee # TEMIAT e HON ?

(A) T4 (B) Fq=¥T 78

(© BT B
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]Mi

101,

Who appoints the Sy,

(A) Chief Election E}E‘!E

Ction

'Ssioner of I

(81)

Mmigg innm. 9
Ndig

(C) Governor of the
c
(D) The Legislative Ao 4 State

T T ST R iy e O the Sty
(A) m%g@mﬁﬂﬁmg? ““

the advice of the Supreme Court.
m%_ﬂﬁi’ﬂmﬁimﬁﬁﬁﬁﬁaﬂqmmﬂﬁ?ﬁ%?
(A) SR < s 3 e e el e e s e & e |
(B) Tgafer g wi T o e e 3 o 23 Ry d
(C) gt weftes =ararera g o e i e g e i R
(D) Hﬁﬁm%wﬂwm‘lﬁﬁﬂwﬁméﬁmmuﬂﬁii

Electoral College for the elechon of the President of.liidia pongists of
(A) only the elected members pf Lok Sabha
(B) all members of Lok Sahhaéhf&ﬁm [}Iﬂfﬁﬂ = ‘

(C) only the elected mﬁﬂ'ﬂ?@’f'%{l};jmwm \.ﬁdrlihf Legislative Assemblies

States. i s .
of o e ers of the Parliament of India and the Legislative Assemblies

lv the elected memb .
e E?‘t};lﬂ States and Union Territories of Delhi and Puducherry.

mﬂ;ugqﬁrﬁig#ﬁ%ﬁahﬁmﬁ

(B) e 3 H 35 e P
- Ry~ _
; tﬂlﬁ;ﬁﬁﬁﬁm-mﬁmhﬁwﬁﬁt@ﬂ%w—mﬁnﬁﬁ%

Longest river of Asia is ®) Y ang-ti-si (Yangize)

(A) ‘Hwang-HO (D) Lend

(C) Mekong , .
o 1 T ¢ 3y - @)
(A) -8 o) T

(C) A
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102,

103,

104,

105.

106.

107.

(82) ST

Kilimanjam mountain lies in which country 9

(A) Tanzania (B) Kenya

(C) Uganda (D) Rawanda
Fenfomiom v forr 21 3 Fafem 2 ¢

(A) @l (B) ¥y

€) Fm= (D) TaiE

The average temperature at stratopause is

(A) 43°C (B) -5s0°C

(©) 100°C (D) o0°C

BRLLLE R () T — wEaT R

(A) 43°C (B) -50°C

(C) 100°C (D) 0°C

Basalt rock is an example of

(A)  Hypabyssal rock (B)  Extrusive Igneous rock
(C)  Plutonic rock (D) Metamorphic rock

A U e 2
(A) IUTETeiy $ (B) T 3y fe
(C) vy s (D) BTl St
O

The average energy flowfrom orje brophi€ leveltoanother is
(A) 15% )50,

(C) 10%

T TI§0] @

(A) 15%

(C) 10%

Whose emissary was Magasthanese ?

(A) Alexander (B) Bindusara

(C) WilsonI (D) Selucus

a1 Tt o 7

(A) Ty (B) fagan

(€) Rew] (D) degwy

Who was not the Navaratna of Chandragupta 11's court 2
(A) Varruchi (B) Varahmihir

(C). Dhanvantri (D) Fahiyan
BN T57H Rd A v § O 90 T8 o7 7
(A) TN (B) wursfifi
(C) wE=ai (D) wmm™
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| (83)
i: (08. The name of Maharana Pratap’s elephant was
Iﬁ (A) E{mdz;“ad (B) Chetak
i L C) ar a [D} Veer P d
I‘ -q!'m'Uﬂ{ e % Tt & oy i
(A) THSETS (B) %
(€) waH (D) Ry
109. Social reformer Govind Guru was bornin a
(A) Pandit family (B) Farmer family
(C) Banjara family (D) Jamindar family
gt U M T8 1 T §a
(A) ifa TRam A (B) Forem efam
(©) AT qiEr § (D) e ufEm &

i 2.5

ho wrote ‘Chetawani Ra Chungatya’ ? |

= :i} pratap Singh Barhath (B) Jorawar Singh Barhath
(C) Rao Gopal Singh (D) Kesan Singh Barhath

St v ear P v 2 .
(A) ETRIE AES (B) %mgg
(C) TETMAEAE (D) THIES

111. Who arranged 2 scholarship for Veer. Vinayak Damodar Sawarkar formshigher education
" in London ? [-%IIIEIE.’IHD_ (el
(A) Shyamji Krishna Vel <T (Bsjubha: %@r@aﬂi dese
(C) Ras Bihari Bose (D) Mohan Singh % -
wﬁﬁmmm%%ﬂmﬂmiﬂ“ﬁiﬁ' e e

(A) vaTHS o qEi (B) mwﬂﬂ
(C) TEfagriaE (D)
- !;Ir; caglizjnﬂz e e w{a;) Virat Nagar
(©) Kushi:l:a:a (D) Gokulpura
Hoe T9E Y T ot
(A) =1 (B) fame®
(C) A (D) TEEGT
" 'n
113. ‘Anand Tcmple' of Pegan D}ITIHST}" [;;GC?:.E;;
(A) Pakistan g ol
(C) Myanmar (D)
Y s o g i el e R Fa
(A) wiRFEE (B) '
(C) wMR (D) |
HelpStudentPoint.Com
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{34) ST-Z

114. Who won the battle of Tarain (119] A.D)?

(A) Amo Raj Chauhan (B)  Mohammad Ghori )

(C) Prithvi Raj Chauhan (D) Govind Raj Chauhan |-_

T H 7% (1191 €. ) Frard e t

(A) TS e (B) Wroye mif |'

(C) gt Ham (D) Tifr <ftem |
115. Which dance form of Rajasthan ig included in intangible cultural heritage list “fUNESCD :

in 2010 ?

(A) Geendar (B) Kalbeliya

(C) Bhawai (D) Kachchhi Ghodi _

T 1w 2010 F gy (UNESCO) %t sy el wret wsft & wfingy,

Fmnd ¢

(A) gy (B) wremafern

(C) ward (D) w=dt gy

116. Who was ﬂ'if: husband of Saint Me

€ra Baaj ?
(A) Bhoj Raj ‘L’Amn Singh
(C) Narpat Singh Sangram Singh
#aﬁmﬁﬁwﬁmmm
(A) W

117, Painting Schoo] ‘Bani-Thani’ is related to
(A) Satwant Prasad

(B) Nagri Das
(C) Mrigawati (D) Shiv-Paryat; *
P et Toft-oft: aifirg 3

(A) w4y (B)  rriterg

(C) et (D) Pra—urf
118. Who was related to Dadrewa village of Churu district 9

(A)  Pabuyjj (B)  Gogaji

(C) Harbhuyjj (D) Devnarayanji

%%%mmﬁﬂﬁﬁa

(A) Tt (B) 7irrsh

(C) woph

(D)
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120.

121.

122.

123,

85)
Who among the followin . {
(A) Padmini Dey; ¢ Samﬁcefﬁhﬂf life in Khejarali Movement ?
(C) Meena Devi ) Karma Devi
[veet mﬁi (D) Amrita Devi
T e o et o
g S (B) wmi ?
o S (D) i:;’i
bl
Who wrote ‘Vande Mataram’ i

: : book ‘A :
(A) Bankim Chandra Chattarjee nand Math’ ?

(B) Vyomesh Chandra Banerjee
(C) Vipin Chandra Pal

(D) Ravindra Nath Tagore
T AME 7S’ § A=, Hrawy fed vt 2

(A) wfepdegwesl (B) =AM wll
(©) fafes w= (D) Ttz iR

Which of the following place is not connegted by National Highway No. 15 ?
(A) Jaisalmer H!e;ﬁ

(C) Hanumangarh- o - (D) ;Bikener
(A) S T 3. T e
(C) THWTE (D) R

Which of the following is the largest man-made soft water lake in Rajasthan ?
(A) Pichhola (B) Jaisamand

(D) Rajsamand
M?;%ﬁmmﬂmwmﬁﬁamﬁm ?

(A) freren [? i,
(C) FATETH D) - Uy

: were known as
The devotees of Vishnu (8) Pashupatas .

Eg P;:Jayism (D) Lingayats
w
iyun] 3 wars e &
(B) W
ZL; CLEILS D) X



124,

125.

- 126.

127.

128.

129.

(86)

E’I’;z

In which one of the following source mentioned e Sixteen Mahajanapadas in Anciep,

India is found ?

(A) Anguttar Nikaya (B} Divyavadana
(C) Rigveda D)  Suttapitak
Freifera 3 | fopg e o g m%ﬁ!ﬂqﬂmwﬁwaﬁéﬁ% ?
(A) e Frem (B) F=araem
(C) =g (D) Hufres

The old name of the river Ravi was

(A) Suvasty ' (B) Kubha

(C) Parushni (D) Dwashdwati
Tt 7t % T Ay oy

(A) Harg (B) w1

(C) wesft (D) gt

The capital of Shoorsen Janapada was

(A) Mathura (B) Vrindavan
(C) Indraprastha - (D) Kurukshetra
Y[EA e Y T oft

(A) =g By FF

(€) FZ5e (D), Foa

State ‘Rajasthan’ finally f{)l@ﬂmw
(A) November 01, 1956 ?‘_\__‘%B 3 ]@'
(C) March 25, 19481 D)* January 0

TS TG aﬁw&@mﬁwﬁr&:aﬂmﬁm

(A) TR 01, 1956
(C) w25, 1948

Social Studies is taught at

(A) Secondary level
(C) Graduation level

(B) w15, 1949
(D) “¥Had 26, 1950

(B) Senior Secondary level
(D) All of the above

w1 fgwr fpr s 2

(A) WrEARHS TR (B) 3= wWreafis T W
(C) & T (D) 9t aft
Taxonomy of objectives in education is given by

(A) John Dewey (B) Smith

(C) B.S. Bloom (D) LK. Davis

fore 7 Sewert =1 i foam e

(A) FASHEA (B) femrgm

(€) #.ea. =EE (D) . . 3w gr

HelpStudentPoint,Com
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o of curriculum includes e

1l Internal activit

|- } 1ties ﬂ'fa
( schog|
©) Both of tgem igi External activities of a school
maqﬁg & 8 wfirs % None of them
i gqﬂaﬂi:"i B (g) Teremery &) ame -
(€) (D) It & & i 78
gocial Studies text book sh .

- A) the Author ke according to

132.

- 133,

134,

(B) the Studen
the Teacher i
(C) (D) the Government

AT A h IIGAGETR, F1ge9 B i

(A) - (B?*ﬁmtﬁaa
s &

(©) (D) H&R®

Social Studies _teacher is telling the sequential process of election in classroom. She is
using the technique of

(A) E:.tplana_tion (B) Nan'atinn.
(C) Discussion (D) Questioning

R 3o Y SeaTiist Ha i g i wfes whea wa @ R | a8 e vl &
TR, TWR

(A) =T (B) w4

() =l (D) R

Social Studies teacher should give € Eﬁc tion|P

(A) giving information related to sWbJecT AT ———
(B) developing thinkiig pom%ucﬁiﬁuwrmsmﬁ-

(C) preparing students for exams.
(D) language development of students.

, v ; -
Visiting historical places is useful in Social Studlnes teaching for
creating i in subject.

(A) ting interest 1M 51:1 iy
(B) providing first hand lﬂiﬂ:’;’iﬁ:ﬁtf
(C) better understanding ©

(D) All of the above- mﬁﬁiwmﬁ'ﬁ%
mamwﬂm
mFAd (B) e e G A




135,

136.

137.

138,

139.

140.

HelpStudentPoint.Com

(88) - ST
Bloom's lesson plan is based on
(A) Ehjemti::fm, (B) Content _
%ﬁr;:nm : (D) All of the above
(A) 3t (B) frvameg w
(C) Sl (D) 37dem w

The project is that purposeful work which is done with complete devotion in the socig
atmosphere. This statement is that of

(A) Bloom (B) Crow and Crow

(C) John Dewey (D) Kilpatrick
mmwm%ﬁm%mmmﬁﬁmmilﬂmi
(A) =[E= (B) ! wvz i =

(C) A= (D) foremdifees =

In Social Studies which of the following test provides an opportunity to evaluate student's
independent thinking 2

(A)  Objective type test (B) Essay type test

(C) Short answer type test (D) Very short answer type test
mmﬁﬁqﬁﬁﬂﬂﬂqﬂwmﬁ%mﬁm%@mm FAET VG el & 7
(A) =xgFre v ) gt (B} @8STTF wr & g

(C) =Y-3w0H v ) whiey ' (T Seh1L &t witeqy

Which of the following 4 *Rabi* Crop ?
(A) Jute

(C) Mustard D} Water. . 7

Frerforfaa 3 & o+ SHodas . HfE e
(A) ¢ (B) et

(C) wwE (D) e

Sadia to Dhubri stretch of Brahmaputra river is connected by which of the following
Inland National waterways ?

(A) National Waterways No. | (B) National Waterways No, 2
(C) National Waterways No. 3 (D) National Waterways No. 4

ﬁnﬁﬁaﬁﬁ&am&mﬂﬁaaﬂwﬂ%mwwﬁwﬁwﬁ*m'ﬁmmi?
(A) T¥H Femr Hegr-| (B) et sremml gwa-2
(C) ¥R Femr gwear-3 (D) T el gE-4

What was the male literacy rate in India as per 2011 Census ?

(A) 82.14% (B) 65.46%
(C) 72.36% (D) 78.30%

2011 1 STV 3 HET WRE 3 oy Fnacar 20 Ree oft 7
(A) 82.14% (B) 65.46%

(C) 72.36% (D) 78.30%

Y

: ’
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141.

142,

143,

144,

145,
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o The winter fall i (89)
e rain
I (A) Arabian s:a 1 India s the resul of eyclones, which originates from
(C) Red Sea (B)  Bay of Bengal
(D) Medit
e ® aehrefi gui w& iterranean Sea
mﬁlﬁaﬁmﬁ
(A) & HIR oy ﬁ:;&mqa ?
(C) TTeT € o Im

142. The area in lﬂdU-Gangeﬁ 2
(A) Tarai Region
(C) Bangar Region

Plain where internal channels re-emerges is locally known as
~ (B) Bhabar Region

T (D) Cho
-7 & e
- R AR G: e Bt R, Ty w9 & 9 et 2
(A) T H _
- (B) e wewr
(C) WFR S iy R
143. Which of the following €nergy resources is credited to trigger modern industrialization ?
(A) Hydel Power (B) ¥
(C) Coal (D) N 3
Iy SR % # %ﬂﬁnﬁf@aqﬁﬁﬁam‘imaﬁaﬁg ?
(A) e ferga e E@Oifﬂ
144. Which of the following State of India has banned chemical fertilizer for sustainable
agriculture 7
(A) Sikkim (B) Arunachal Pradesh
(C) Andhra Pradesh (D) Goa
Rreres (el waa) Ff g Prafafs § @ wra & fow oo 3 Temies sd & v
H PAfigw ka2 ?
| (A) fafeem (B) Ta;amau&m
(C) 3y weH (D) AT

145, Which of the following fron and Steel Plant was established with the technical
. 1Icn o c :

: itain ?
Eillaburatmn gfi?ﬁﬂﬂf (B) Durgapur Steel Plant
) Bokaro (D) Vijaynagar Steel Plant

(C) Raurkela Steel Plant . 357 ¥ qefieh! wedim A gd oft 7
Rraferfe -3 R it~ 7o @ 1 S A 5 |
) (B) QL SEE HA

(A) W) g A .
{c: e T Ul




146,

147.

148,

149.

150.

g river is notorious for ‘Badland’ ?
(A) Chambal (B) Krishna

(C) Godavari (D) Tungabhadra

329N T v (Badland) % fére g 2 7
(A) v

) (90)
Which of the followin

(B
(€) el (ni &Tm
The habitat of * Yakut® tribe is
(A) Néw Zealand (B) Congo Basin
(C) Amazon Basin (D)} North Siberia
R A 1 ST (e T B
(A) giets (B) i afem
(C) ImieF afim (D) Iwdt \rgatE

Ghagghar Plain is situated in

(A) Ganganagar and Hanumangarh Districts
(B) Jhunjhunu and Sikar Districts

(C) IJalore and Sirohi Diﬂ&/_ﬂ

(D) IJaisalmer and-Barmer Districts

wmmmﬁa%

The first textile mill of Rajasthan was established at

(A) Ganganagar (B) Bhilwara

(C) Udaipur (D) Beawar

TSI 1 99| T8 IUNT T g o

(A) TR (B) feras

(C) IR (D) =t

As per 2011 Census, which of the following district of Rajasthan recorded Jowest decaddl
population growth rate ? 1

(A) Ganganagar (B) Bundi

(C) Baran (D) Sikar

2011 Y A ¥ HEW, ﬁﬂh&ﬂﬁﬂmﬂ%ﬁmﬁﬁﬁm“@%ﬁ“
=qFan W ?

(A) AT (B) @

© ard (D) Hi
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